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1. QSEMPQS

(1) T EEXIRHENET D
(2) QS(2R 5 BLVE)
M=N"2 (M+k)?-N =S,, k=1,2,...,.L
S\ & 3 BN EE T g
(3) MPQS(#E A Z IE 2R 5B ViK)
f.(x) = {(ax+b,)? — N}/a, x=-L,..,-1,0,1,..,L
f(X)ZERHEETH

b,2-N = 0 (mod a )&VYa,b, Z/ERK




2. QSIZK AR5 715

(1) 73 EEXT R E(N)
N = 480923, M =[N"2] =694

(2) &L

JE

PAS3ILL T DHELIT., b<PDEHDLA

b2 — N = 0 (mod P)%&i&1-9 PE{EFE

R

EIXTEED101E

ETED

{2,7,11,13, 23, 29, 31, 37, 43, 53}
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3. QSI

X  Xx2-N
694 713
701 10478
709 21758
710 23177
732 54901
753 86086
787 138446
794 149513
808 171941
809 173558
10 924 372853
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3.1 S\BLYD:xAEA

(1) x = 694 = M
x2 — N = 6942 — 480923 = 713 = 2331
(2) x = 701 = M+7
x2 — N = 7012 — 480923 = 10478
= 2-132.31
(3) x = 709 = M+15
x2 — N = 7092 — 480923 = 21758
=2:11:23:43
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4.1 17AEE

(1) SBULER D20 R 1T5I(A+E)
(@) SBWLERITL(mod 2)D1TF] > A
(b) 1THIADAEIZxTAITHI(E)ZEN

(2) 1TT5HEE

(a) A+EDITAZEADABERETIHEE

(b) BH3ZHEL . X E

TIEAT 195

> BTEOLLERTT
(c) (BA+1)DITEIILITZESITHE

(d

p

HESTGLITIEIZHBRIFEERMNAD



HEMRR

;
. SBULMER D20 F| ST FI(A+E)

4.2

OCOOOOOOOOO T
OCOOOOOOOO—O
OCOOOOOOO—OO0O
OCOOOOOTTO OO0
OCOOOOTTO O T O
OCOOTOOT~0OOO~
EO; OO OO0 —vT0O
OCOOOOOO—O0OO0O
OCOTOOCO T OO0

O T T O T O T v O

OCOOOOOOTTOOOO
OCOT T OO0 OO0O
COOOOCOCOOOOO0O
i ul ol oleoleoleoleoleole
eololololeol Jdoleoleoleole)
LCOT+—+—+-0000O0O
OCOOTOOOOOOO
Ot v OO0 OO OOOo
OO OO OO OOO0O
OO OO OOOOOOo







5. R# 78

(1) KEITEERALTEDXYDEFETHE
X2 —Y2 =0 (mod N)
(a) XD EH E (it BATH D B A )
SBWNMERDEDX)DER
b)) YOSTEREBTORBEEDATHE)
BEREARATH=(IEBITOBREENRTDEET)/2
(2) P=GCD(X+Y, N), Q=GCD(X-Y,N)
> P X Q=N¢ R o fi#
f=f=L. ¥7 I3 8RELLS




5.1 Rz aE151

« #E17(0,1,2,31T)THDE

o7 Pk

(1) XOFHE(RBITHEMETHE)
X =694-701-709-710 (mod N) = 123677

(2) YORE(BRITORAE

EDANTEH)

xEK =2,7, 11,13, 23, 29, 31, 37, 43, 53

R¥=(2,222 2,0 2 0 2 0)/2
Y =2:7+11-13-23-31-43 (mod N) = 302097

(3) P = GCD(X+Y,N)

P =GCD(123677+302097, 480923) = 593

- P=593, Q=811 &NI&
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5.2 R#7n#EHI2

» €/=17(0,1,4,6,81T)TD

A

257 1

(1) XOFtEERITIEMETE)
X =694:701-732-787-809 (mod N) = 411532

(2) YORE(BRITORAE

EDANFEH)
HK =27 11,13, 23,29, 31, 37, 43, 53

N = (2,4, 4, 2, 2, 2, 4, 0, 0, 0)/2
Y =2-7%2-112-13-23-29-312 (mod N) = 270418

(3) P = GCD(X+Y,N)

P=GCD(411532+270418, 480923) = 593

- P=593, Q=811 &NI&

A
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5.3 AF 7 AEIGR

(1) #€E47(0,1,2,317)

X=123677, Y=302097, N=593-811& R %
(2) #€/E17(0,1,4,6,81T)

X=411532, Y=270418, N=593-811& R %
(3) /EE1T(1,4,997)

X=87239, Y=373522, N=593-811& R %5 &
(4) €8 17(0,5,6,101T)

X=104199, Y=104199, BEHEAfE CHETET
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